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('iCfif?;!a ~-II 
SUMMATIVE ASSESSMENT-II 

f.Mftrr WPI: 3 ~ 1 

Time allowed : 3 hours 1 

R/4/P<I f.tff1T : 

•tfOitt 
MATHEMATICS 

(i) ~ J1R 31f.t<wf f I 

[~3i<l;:90 

[Maximum marks : 90 

(ii) W J/R-W if 34 J/R f whtlf ?SU5'f- 3r, Of, ?1 aitf <:if~ f I 
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(iii) ?ffU5 3f ff ~-~ 3iCfi ~ s JTR !, w7 ~ f¥nc>47 JTR ! 1 ?ffU5 ar ff 

6 JIR f ~ -f1 ~ 2 3iCfi W C I ?9U5 tr ff 10 JIR rf/;r-rf/;r afq;f .q, f I 
?9f15qff lOJTR!~-8~4 3iciiwCI 

(iv) ~&!j)Hc( w~~CI 

General Instructions : 

(i) All questions are compulsory. 

(ii) The question paper consists of 34 questions divided into four sections­

A, B, CandD. 

(iii) Section A contains 8 questions of I mark each, which are multiple 

choice type questions, Section B contains 6 questions of 2 marks each, 

Section C contains I 0 questions of 3 marks each and Section D 

contains I 0 questions of 4 marks each. 

(iv) Use of calculators is not permitted. 

Section A 

w.r ~ 1 '# 8 ffCfi ~ w.r 1 aicfi CfiT e- I w.r ~ 1 '# 8 q ~ w.r ~ ffw: T:fTf 

~~1fT.[ t, fir;pJ '# Wrc7l[Cf' mite-I mit~ ~I 

Question numbers 1 to 8 carry 1 mark each. For each of these questions four 

alternative choices have been provided of which only one is correct. Select the correct 

choice. 

30/1/1 

(A) -3 

(C) 5 

(B) 4 

(D) 2 

The first three terms of an AP respectively are 3y- 1, 3y + 5 and 5y + 1. Then 

y equals: 

(A) -3 

(C) 5 

2 

(B) 4 

(D) 2 
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2. ~ 1 it, QR ~ 1Jil; 'fffi <lit v:c1i ~ ~ 00 i I "¥ "llWR ~ T lR ~ 

<m" ~ I ~ T lR lSf'Rft 'lJl ~ 00 QR <m ~ P lR 'ftr'ffilt i I ~ PT = 3.8 Wfi i, 
oT QR <lit~ (Wfiit) i: 

30/111 

(A) 3.8 

(C) 5.7 

(B) 7.6 

(D) 1.9 

In Fig. 1, QR is a common tangent to the given circles, touching externally at 

the point T. The tangent at T meets QR at P. If PT = 3.8 em, then the length of 

QR (in em) is : 

(A) 3.8 

(C) 5.7 

3 

(B) 7.6 

(D) 1.9 
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3. ~ 2 ~. PQWU PR ~ O~~<fitGT~~~ I~ LQPR=46o i, m 
LQOR 'fiTliFfi: 

30/1/1 

p 

(A) 67° 

(C) 440 

In Fig. 2, PQ and PR are two tangents to a circle with centre 0. If LQPR=46°, 

then LQOR equals : 

p 

4 
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4. ~~citttcm:~Wi~m'R, ~ ~~Wi 60° Cfllcitur~~ 1 ~~ 

CfiT YIGfai~tlcm:~ 2lficfit~1Rt m~cfit~ (lfrW-ij-) ~: 

30/1/1 

(A) 
4 

J3 
(B) 4J3 

(C) 2J2 (D) 4 

A ladder makes an angle of 60° with the ground when placed against a wall. If 

the foot of the ladder is 2 m away from the wall, then the length of the ladder 

(in meters) is : 

(A) 
4 

J3 
(B) 4J3 

(C) (D) 4 

SII~Cfld I~ : 

(A) 
1 

(B) 
1 

- -
36 2 

(C) 
1 

(D) 
1 

- -
6 4 

If two different dice are rolled together, the probability of getting an even 

number on both dice, is : 

(A) 
1 

(B) 
1 

- -
36 2 

(C) 
1 

(D) 
1 

- -
6 4 

5 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



6. ~m 1 ~ 30 -ij~ 41~41 ~~wfi~ I~~~~~~~~ 

c€t 511f'llCfldl ~ : 

(A) 

(C) 

2 

3 

1 

3 

(B) 

(D) 

1 

6 

11 

30 

A number is selected at random from the numbers 1 to 30. The probability that 

it is a prime number is : 

(A) 

(C) 

2 

3 

1 

3 

(B) 

(D) 

1 

6 

11 

30 

7. ~~ A(x, 2), B(-3, -4) om C(7,- 5) ~t-aT xcnP=rR~: 

(A) -63 (B) 63 

(C) 60 (D) -60 

If the points A(x, 2), B(-3, -4) and C(7,- 5) are collinear, then the value of x 

is: 

(A) -63 (B) 63 

(C) 60 (D) -60 

30/1/1 6 
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8. ~ 45 Wft ~ IXJffi 4 Wft crrR ~ ~ ~ im ~cit~ Cfi\ 6 Wft IXJffi crrR 

im~~~ llfrffi~~i: 

(A) 3 

(C) 4 

(B) 5 

(D) 6 

The number of solid spheres, each of diameter 6 em that can be made by 

melting a solid metal cylinder of height 45 em and diameter 4 em, is : 

(A) 3 

(C) 4 

Section B 

(B) 5 

(D) 6 

Question numbers 9 to 14 carry 2 marks each. 

Solve the quadratic equation 2x? + ax- a2 = 0 for x. 

10. ~~ ~t.fif~llG 5 ~ ~-qc:: 45 i I~~ ~~~Wt.fifcWT 400 

i, m~~alffi:~~ 1 

30/1/1 

The first and the last terms of an AP are 5 and 45 respectively. If the sum of all 

its terms is 400, find its common difference. 

7 [P.T.O. 
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11. m ~fcf;~<4IT Gl ~ ~OOan ~~ ~q;"T~~ {1511\SIU:S ~ 

~~~~~il 

Prove that the line segment joining the points of contact of two parallel 

tangents of a circle, passes through its centre. 

12. ~~Qqffiv;<fi~'R~i!TW~P~Gl~~PQ~PR~~~ 

~fcf; LQPR = 120° liT, mm~fcf> 2PQ =POi I 

If from an external point P of a circle with centre 0, two tangents PQ and PR 

are drawn such that LQPR = 120°, prove that 2PQ =PO. 

13. W\11 G't ~-~ fu<iq;1 q;l v;<fi Wi 3t9111tll i 1 em~ em v;<fi 1R 3lH <4IT 511RI"'ltil 

~~I 

Rahim tosses two different coins simultaneously. Find the probability of 

getting at least one tail. 

14. ~ 3 if, v;<fi ~ ~ "'4g"l~l OPBQ ~ ~ORr v;<fi qrf OABC i I ~ 

OA = 20Wfii, m t91<tifel>tl 'IWTCfiT ~~~I (1t = 3.14 ~) 

30/l/1 8 
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In Fig. 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If 

OA = 20 em, fmd the area of the shaded region. (Use 1t = 3.14) 

Section C 

Question numbers 15 to 24 carry 3 marks each. 

15. ijJi"lCfi(OI 
4 -3=-5 -;x;tO,-~, "Cfl't x ~~~~ I 
x 2x+3 2 

Solve the equation 
4 -3=-5-;x;tO,-~ , for x. 
x 2x+3 2 

16. ~~wriffi:~q;r~llG.!. t~~~llG.!. t, m-~ 63ciT"IlG~ 
9 7 

~I 

If the seventh term of an AP is .!. and its ninth term is .!. , fmd its 63'd term. 
9 7 

30/1/1 9 [P.T.O. 
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17. ~ 'EIJOIOfilol ~ABC~~ AB = 6 W:fi, BC = 8 W:fiom LB = 90° ~I 

B ~ AC ~~ BD ~ om~m B, Com D ~ ~ ~ Cf1ffi ~~I~ 

A~~~~~ oom cfiT \T.RT ~ 1 

Draw a right triangle ABC in which AB = 6 em, BC = 8 em and LB = 90°. 

Draw BD perpendicular from Bon AC and draw a circle passing through the 

points B, C and D. Construct tangents from A to this circle. 

18. ~ ~ A(O, 2), ~311 B(3, p) om C(p, 5) ~ 'EI'"I~~ ~' m p CfiT llR ~~I 

AB cfiT ~ 1:ft ~ ~ I 

If the point A(O, 2) is equidistant from the points B(3, p) and C(p, 5), find p. 

Also find the length of AB. 

19. ~ >ICfim -~ ~ G1;ft ~ G1-~ 1IT-ft .q ~ >ICfiR W«r ~ fcti G1;ft ~ om 

>!Cfim-~~~oo.q~ 1 >!Cfim-~~~~Gl;ft~~ ~Cfilur 60° 

om 45° ~ 1 ~ >ICfim -~ cfiT ~ zoo 1ft ~ m G1;ft ~ ~ Gft:q cfiT ~ ~ 

~I [v'3 = 1.73~] 

30/1/1 

Two ships are there in the sea on either side of a light house in such a way that 

the ships and the light house are in the same straight line. The angles of 

depression of two ships as observed from the top of the light house are 60° and 

45°. If the height of the light house is 200 m, find the distance between the two 

ships. [Use v'3 = 1.73] 

10 
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20. ~~ A(-2, 1), B(a, b)~C(4,-l) ~~~a- b = 1 tm a~ b~lffi 
~~I 

If the points A(-2, 1), B(a, b) and C(4,-l) are collinear and a- b = 1, fmd the 

values of a and b. 

21. ~ 4 "ij, 12 Wfi 1Ff'fR'fi~ {111<11§~ ABC~ ~~~"@'f'qpJ~t 

~ ~ 0 t I 3fu":~ ~ ~ ~ ~ ~ 014ifit>t1 'l1l1T 'fiT ~ ~ 

~I [x=3.14~J3=1.73~] 

30/111 

A 

In Fig 4, a circle is inscribed in an equilateral triangle ABC of side 12 em. Find 

the radius of inscribed circle and the area of the shaded region. [Use 1t = 3.14 

and J3 = 1.73] 

A 

11 [P.T.O. 
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22. ~ sll, PSR, RTQ om PAQ (fi;r ~ 

t ~ oqm Sfilrn: 1 o Wit, 3 Wit om 

7 Wft ~ I 014 ifoht1 'IWT 'fir -qfu:nq ~ ~ I 

[7t=3.14~ 

In Fig.S, PSR, RTQ and PAQ are three 

semicircles of diameters 10 em, 3 em and 

7 em respectively. Find the perimeter of the 

shaded region. [Use 1t = 3.14] 

7-wfi R 

T 

T 

23. ~ fcm;r 3l1H m ll1 0 lfi O!ffif ~ a:ft\ 2 lfi ~ ~ ~I:'HICflR Vfit "CflT ~ 

oqm 20 Wit~~~ w ~ "« ~ i I ~ ~ "ij-qr;fi 4 M >rftr <kr <fit 

'qffi-«~~t m-~~llVfit~'R~? 

30/1/1 

A farmer connects a pipe of internal diameter 20 em from a canal into a 

cylindrical tank which is 10 m in diameter and 2 m deep. If the water flows 

through the pipe at the rate of 4 km per hour, in how much time will the tank be 

filled completely ? 

12 
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24. 20 Wft ~ 3fR 60° ~Htfch1o1 ~~om ~ ~ ~C!:I1tf1~ ~cit~~~ 

~-eft:q~~~~~~G) mlff~Cf)RJTT<IT~~~~~ ~~ 

~~I ~>rrn~~~cit _!_ Wftcxm:r~~(JR~~~@:qr~t 
12 

eft (fR cf?r ~~~I 

A solid metallic right circular cone 20 em high and whose vertical angle is 60°, 

is cut into two parts at the middle of its height by a plane parallel to its base. If 

the frustum so obtained be drawn into a wire of diameter _!_ em, find the 
12 

length of the wire. 

Section D 

Question numbers 25 to 34 carry 4 marks each. 

30/1/1 

The difference of two natural numbers is 5 and the difference of their 

reciprocals is _!_ . Find the numbers. 
10 

Prove that the length of the tangents drawn from an external point to a circle 

are equal. 

13 [P.T.O. 
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21. ~ 60 lft ~ f«lf?.iJI ~ ~ ~ ~ lff.m: ~~om 'CfTG ~~om~ 

ct?rur ~= 30° om 60° ~ 1 f«lf?.iJI om lff.m: cfit Jri-11~41 cnr ~om~ ettq cfit 

~~~I 

The angles of elevation and depression of the top and the bottom of a tower 

from the top of a building, 60 m high, are 30° and 60° respectively. Find the 

difference between the heights of the building and the tower and the distance 

between them. 

2s. ~ ~ -q q;Jt ~, m 1R 1 ~ 49 (fCf; cfit {'j~~~ ~ ~ 1 ~~en)~ >f(fiR 

f?l~ICfl{, ~~ lll~'iijlll ~q;Jt RCfll~llFU I SII~Cfl(11 ~~fcfi~~q;Jt 

1R~~: 

(i) ~~~i 

(iii) ~~crf~i 

(ii) scnr~i 

(iv) ~'Bl:r~~i 

A bag contains cards numbered from 1 to 49. A card is drawn from the bag at 

random, after mixing the cards thoroughly. Find the probability that the number 

on the drawn card is : 

(i) an odd number (ii) a multiple of 5 

(iii) a perfect square (iv) an even prime number 

29. ~P(x, 2), ~3ft A(l2, 5) omB(4,- 3)cnT~qffiu~ms.o;scn)~~-q 

GJk:dTi I xcnflJH ~~~I 

30/1/1 

Find the ratio in which the point P(x, 2) divides the line segment joining the 

points A(l2, 5) and B(4,- 3). Also find the value of x. 

14 
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30. k ~ ~ lfR ~ ~ ~ ~ ~ f!J{\Cf){OI (k + 4)~ + (k + 1) x+ 1 = 0 ~ liR 

WlR~I~liR~~~I 

Find the values of k for which the quadratic equation (k + 4)x2 + (k + 1) x+1=0 

has equal roots. Also find these roots. 

31. so 'tfG1 cfiT ~ ~ ~ ~ ~ 10 'tfG1 CfiT ~ 210 om~ 15 'tfG1 CfiT ~ 

256Stl~~~l 

In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its last 15 

terms is 2565. Find the A.P. 

Prove that a parallelogram circumscribing a circle is a rhombus. 

33. ~ ~ -qm ~-a WIT~~~ 3l1CFiR CfiT ~ GRf.f t Rlt~ctl ~ 11 Wft om 

~1m: cfiT ~ 2.5 Wft t 1 ~ GRf.f 1JFfT -a~ oqu ~* t 1 ~ GRf.f .q o.s Wft 

30/111 

OlfR1 cfiT ~ cfiT Jfle~IOflR J n ffi:l;qi ~ ~ ~ GRf.f ~ 1fFfT CfiT ~ 'q11T ~ * lFn 1 
5 

~~~~GRf.f.q~Jflffi:!;qj~~~~~~~~~GRf.f-a 

~ 1JFfT ~ ~ cfiT Cf41f{~•i'i "OflT "{ffq ~ I ~ ~ ~ CfilCf -a~~ CfiT ~ 

~? 

Sushant has a vessel, of the form of an inverted cone, open at the top, of height 

11 em and radius of top as 2.5 em and is full of water. Metallic spherical balls 

each of diameter 0.5 em are put in the vessel due to which ~ th of the water in 
5 

15 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



the vessel flows out. Find how many balls were put in the vessel. Sushant made 

the arrangement so that the water that flows out irrigates the flower beds. What 

value has been shown by Sushant ? 

34. ~ 2.8 Wfi 3fu:~ 4.2 Wfi~~iffi~-ij-~~~ 3fu:~~~ 

~ ~icteliCflR ~ CfiR iW:rr ~ t I ~ ~ iffi CfiT ~ ~ Wf ~ I 

[1t=22~] 
7 

30/111 

From a solid cylinder of height 2.8 em and diameter 4.2 em, a conical cavity of 

the same height and same diameter is hollowed out. Find the total surface area 

of the remaining solid. [Take n = 
22 

] 
7 

16 
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